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General

Knowledge

Which one of the following is not the 1.

example of non - impact

printer ?

{A) [}E'.']H}’ Wheel Printer

{B) Inkjet Printer

()  Laser Printer

(D)  Thermal Printer

A computer virus normally attaches itself i
to another computer programme known

as ;

(A) Target programme

(B) Host programme

()  Trojan Horse

(D) Backdoor programme

Which key is used to move a cursor into 3.

beginning of a line of text ?

{A) Esc

(B} Enter
(C) Home
(D}  PageUp

The process to obtain confidential 4.

information from a computer user by

falsifying their identity is known as :

(A) Spoofing
(B)  Phising
(C) Spamming °

(D) DBugging Q"//)
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(A} TEEYmE |
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(D) SwEr g
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FHA-HT B (key) T 87
{.-ﬂ'l.jl Esc

(B} Enter
() Home
(D) PageUp
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Wﬁ@gﬁﬂaﬂw TEIHEH
{Aa wyfT |

(B) fifg |

(C)y T |
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ingle transaction between the CPU
he external memory is known as

I{O leyele

data unit

blis gycle
|
bit node

h|one of the following is not an
ting ;s}fstem T

Windows 7

Chrome

i"u’im‘;ﬂﬂw:; Vista

LINIX

h une! of the following is not a major

s c:llf a computer 7

Datal input

(B)
(©)

Data Processing

Datal Stora ge

(D) |Dhtal Analyzing

Full f;
(A)

it of TIFF is -

lagged Image File Form
Tagged Image Fax Form
l'agged Image File Format

Tz:ggied Image I'ax Format

5.

6.

T

O!!\!P.'BE,. ULTE

Hid 7, U A ARET (external memory)
% HES THE ARA-WEH (single transaction)
a’ﬁ Equé[ gl

(A) 1/O ¥+
(B) =N g
(C) @8 wEEd
(D) =iE ==

T | R UF a9 faw i d?

(A) faE= 7
(B) M

(C) fo=m famm
(D)

TTH W IS UF SV i 70E Tw T R

(A) =T TR
{B} ?:'.ET -\aF. = E
(C) 22 HuEw
(D) =1 faver

TIFF &7 97 ®9 & :

(A) 278 TS HIEE EH
(B) <7 39 e wrd
(C) 272 THF HIEE FH
(D) &5 T el W
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47. OD, OE and OF are perpendicular 47. OD, OE "1 OF, = &1 §i7 y=istl ™

bisectors to the three sides of the triangle. efeaq faws §1 1 ZBAC[AS £BOC &
What is the relationship between £BAC e F HAY 7 I
and S/BOC ? |

(A) ZBAC=180~£BOC (A) ZBAC=180~£BOC
1 . 1: H
(B) ZBOC =90 + 5 LBAC (B) <£BOC =90+ _2734 L AC
_ 1
(C) £BAC =90+ % ZBOC (C) £BAC=90+ | £BOC
(D) ZBOC=2/BAC (D) ZBOC=2/BAC|

48. What annual instalment will discharge a ~ 48. 5% TI9RY =419 1 <0 @ ¥ 4620, 59 H
debt of T 4620 due in 5 years at 5% simple #g w1 % o foa =i feed =rl
interest ? T2 ? .

(A) 1080 (A) 1080
(B) 924 (B) 924
(C) 1280 /'. (C) 1280
G:/’ INDIRESULT i
(-E—-v}} 1[]5‘} YOUR SUCCESS PARTHNER (D:l -l{]:‘[]
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49, The a reragle marks of 50 students in a 49,

class is ’15!, Five students left whose
average n‘+ark5 was 15.25 and 4 new
studert: jr}:.ined the class whose marks
were fespectively 13, 11, 10.5 and 9.75.
Then the pircsent average marks of the
students|in the class is -

(A) 14| |
B 1l 12‘
(C) 1465

|
(D) MNone pf the above

50. The diffarence of 10% -7 and 10+ x is 50.

divisible by B for which value of x ?

© || |

51. A hollgw cylinder is closed at both the  51.

ends. If the radius of base of the cylinder
is half of heéght of the cylinder and the
complete mui"face area of the cylinder is
924 units, then the height of the cylinder

(A) 14 | |
(B) 16

o | @womesus

(D) Npre u;sf the above

rl )!N!DSIUCC §I’AR
T &1 H 50 BT F1 SiEa % 15 21 Uiy
BT 1 AT 37 15,25 a1 5 3 Fa Bream
o T T 4 9T T ofF mEe 13, 11,
10531975 &, 79 &1 731 99 Ferl & o

] S AT 3 F

(A)
(B)
(C)
(D)

14
14.12
14.65
SR H & w0 o A

w3 H faifag gm 20

()
(B)
(©)
(D)

'3."‘
2
4

6

U e 5o % aF (9 55 §1 9 s
YR Tt B Ao F S ] et
1 SIS U U F AEE 924 T 7
Al ST W S B

)
(B)
©
(D)

IuiEE J H #iE ot e
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9.  Technology used to transmit digital data 9. Tefeee =21 ®i 2fereH !*Er & i uftg &
over telephone network is ; * ferd EEES] PIRIHED EW :
{(A)  Bluetooth (A) =¥ !
(B) ASL (B) wUHTA |
(C} Router (C) U3
(D} DSL (D) EhLuaua.

10.  Which of the following is not a Gfmgle 10. =1 H 9 wE- e (Godgle) F1 W=

software ? (software) E E?

(A)  SketchlUp (A) T

(B)  GMail (B) S

(C) Google Earth () e 3ref |

(D} None of these (D) =78 | F2 o 427

'

11. Google is a s 11, TPrEEw_ | )

(A) Web browser (A)  =E STI :

(B] Search Engine (B) EENED |

(C)  Web Server (C) =9 Hat |

(D} None of the above (D) 390= H | &g ot T

|
12. Best quality of Graphics is produced by : 12, SO Wi 5908 S Hahat 2

. !
(A) Dot Matrix (A) EiZ UiZ99 = 31 |
(B) | Laser Printer . (B} T Tt 3 g

v

(C) Plotter G

(D) Inkjet Printer

NE lIIBtEi§$F‘RTNlR {C} Wé‘m I
(D) Fwsez el + 5|

SPACE FOR ROUGH WORK / T% &4 % f&d sme
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13. VGA stahdd for - 13. VCAFI Ol wg & -
(A)  Video Graphic Array (&) difedt mites uy
(B) Video Graphic Application (B) =tfeat mitee ufierram
(C) ‘uisuali Graph Array (C) faspera or® oY
(D) None of the above (D) 9= o | w7
14.  Which pflthe following storage media has 14. T H 9 faw semm oream (storage media)
the capadity|to store maximum data ? H AT BRI HERW (data storage) i
AR ?
(A) HVD (A) TEELEL
(B}  Blu|ray (B) =1L
(C) DVD (C) =iELEL
(D) (D) ¥HLEL
15.  Which pf the following is used to make  15. CPU ¥E&IOHEE 991 3q fet & & faae
CPU mictoprocessor ? AT R = 8 ?
(A) Silica (A) Tafea
(B) Cppper (B) Fw
(C) Silidon (C) Tafest
(D) Silver | (D) faem
16.  Which frie of the following is not a web 16, T7H ¥ F1-57 3 Aot T8 &7
browser 1
(A) Opera (A) T
(B) Firefox (B) HEIHIFH
(C) Internet Explorer _ °, (C)  Zere ugaaEng
® vy (INDIRESULTE o) ore
| SPACE FOR ROUGH WORK / T% &1 % fod =g
indiresult.in whatsapp - 9352018749
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52

53.

2+\5_‘2-—J§=
245 2+45
(A) -1

(B) —18

(€ 5

D) -5

If x*—3x+72 is a factor of ¥¥—axi+b=0,

then the values of a and b are ;
(A) =5 —4
B 4

—~5 4

The sum of two positive integers is 52 and
their LCM is 168. Then the numbers

dare :

(A) 32, 20

(B) 17, 35

(C)y 16, 36 J‘

o @wpresuE

B

L) |
e
h

2+ \E i 2 - \.E . 1
2 -5 245

(A} =1

(B —18

(C) 5

(5] J5

1 9 gkl = A 52 3 A
THOEA 168 21 79 TEE E

(D) 24, :

+0 &1 UF

AT TTERTH

SPACE FOR ROUGH WORK / T% &Td & g 51
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55. Circle is {ZL'CLL mscribed around a square 55. U 91 ABCI 3 =R S U J4 G T g

ABCD ag %iv n in the figure, If the area T 39 4 TRHT UF SEER 9T H AARS
. , .8 84 - 5
of one o 1519: shaded portions is 7 the 5 T 5t F 2
i
radius of tTe rircle s
AT N,

)

AL
(A) 1
(B} 2 (B) 2
S ¥z (€ V2
(D) None of the above (D) Ioied d | FE o

56. The radiusl of the incircle in the given 56, &% i fast H artaye =1 T a1«
diagram wiPl be :

A A

il

& om / b ocm

S

B 8 tm < B 8 :.:m a =
(A) 1.8 dur (A) 1.8 cm
(B} 2.0 dm (B} 2.0 cm
(C) 2.5 qm F//.- () 2.5 cn
|:D\| 3.6 cn—i /ﬁ!”n !II.BCEI$P1R1IER ([_:}j 3.6 em

SPACE FOR ROUGH WORK / 1% &Td & fod - e
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57. The set of values of p for which the roots
of the equation 322 +2x+p{p—1)=0 are

of opposite sign is
(A) (=, 0

(8} (0.1

(€ (L =)

(D) (0, =)

58. Let (x, y)=LCM of x

[, y]=HCF of xand y. If —,I

and y, and

|

L} |

ST Ik e

3k 2y +p(p—1) =0 &

%7
(A) (=, 0
® ©
(© (1, =)

(B} (@, =)

AT (x, y) = x 3R y F FETA FoTEE A4l

[x, y]= x ¥ y F1 TETH HAMSTF ¢ Tl

3 2 7 3
and E—1.-i_=1[] then (x, y) [x, y]= — + — =2, 7 2_{_ +|-E= =10, 99
\lll'; _\Ify N |El|r 1',1_'1_'1 N L,f
(x 1) [x, vl =
(A] 36 (A) 36
(B) 4 (B) 4
(C) 6 e <6
(D) 81 (D) 81 |
|
|
59. 232 +7332 -3B6d = 234 +7932 - 3864 =
i I
(A) 1043 (A) 10473 |
(B) 1094 (B) 104 |
(€ 4310 N (€) 4310 |
@
(D) 10 WS e e (D) 10 |
|
SPACE FOR ROUGH WORK / 7% =74 & &3 512 |
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60. In anfurn there are coins of T 1, 50 paise 60, Us 9& § 71, 50 95 7941 25 U8 F ot =1
and 25 paise in the ratio 5: 6 : 7. If their AT 5:6:7 81 AT T Fe e
total value is T 117, then sum of numbers T 117 @, 9 50 T =i fasl %] wen v
of 50 paise|coins and 25 paise coins is not 25 TR w1 AR w W@ w1 An fafad
divisiple by : T 2 ?

(A) L3 (A) 13 M
(B) ¥ (B) 7EM
(C) & (C) 47W
(D) & (D) 6E
61. A milk seller buys milk at the rate of  61. UF M T T3 0l e F owm & 2w
1 — o 1
T3 per litre. He mixes water T of it and wiEdl £ 77 29 T4 [ A F 3 T
sells the mixture at the cost price. Then el s =) FA-Yed WAASA § | a4
his pefcentage gain is ; FeT oY Wi ¥
(A} 200% (A) 20%
By 15% (B) 15%
(C) 45 (C) 25%
(D) 308 (D) 30%

62. A moibrboat is racing towards north at 62. TF HZEE 397 &) e 23 ﬁ‘%‘.ﬁtl.;"af, FI
25 kmy'h and the water current in that TN | H9E @ § N 39w Ut e A
region|is| 10 km/h in the direction of 60° Tram & 60° 4o =i fewn o 10 TRt /9 7
cast of sputh. Resultant velacity of boat T2 T IO S (EIE)
is {(approximately) :

(A) 2242 km/ (A) 2242 T
{B) 20 km/h (B) 20 f=.Hr /4
(C) 22 km/h /'. () 22 fw /.
v i
“j’:l' 20 'IE 1(]’1‘!_;"1‘1 /C‘, !Nn lIIBCEil$F.lRTNER {D} Qﬂ\;‘E 'i'-a?'q‘:;!-’";_{
SPACE FOR ROUGH WORK / 1% &1 % fau =g
indiresult.in whatsapp - 9352018749
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63. In a village there are five men for every
four women and five children for every
two men. If there are 648 women then

what is the population of village 7
(A) 3475
(B)
(C)

(D)

3473
3483
MNone of the above
64,

The value of the fraction

1 1
{1245ﬂ9)f§ % {'1216?}’6 -
10°

(A)
(B)
(©)
(D)

8.119
81.19
7.119

7119

65. If = 230

at+hb

then the walue of

x+a+x+bi5:

¥x—b

(A) 1
(B) 4
(G 3

(D) 2

63.

64,

ERIRCE ER I
£ Ao Ui urE A= & fo
el 71 TeT 648 % 1
FE?

[A) 3475

(B) 3473
(€

(D)

3483

1
firs ('1246:}9)% X {1215;;], g

Wﬁ@ﬁé?ﬂ'ﬁf

UM E

10°

(A) 8.119

81.19
(C) 7.119

(D) 71.19

a+b T3

(€ 3

(D) 2

_ 2ab H x|+4q |

|.x+bEHlTiF[
r—h

SPACE FOR ROUGH WORK / T &4 % fod oe |
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66. [x] dendtes the greatest integer value just 66, [+], x F &= 19 7y ERIEAE Al Ci i
below xland {x} its fractional value. The T E AUT (v) 3HF BT o w1 At
sum of [x]3 a]nd [} is —7.91. Then the [x]? @20 (v}2 =1 A —7.91 & @ ¢ 1 oA
value of|x/is ; B
(A) —0.03 (A) -2.03
(B) 197 B =197
© -2.97 (@ -297
(DY =19 (D) ~1.7
67. If e and Blare the roots of the equation  67. 4f% o @it p G ¥ —px+q=0 % 7A
x?—pxHql= é, then the wvalue of sk e A N
| | Tl ——— s FHAAE
¢ |l B s 7l ok M el
{iz + (_I E:z + i.-l
P P
) @ o
b 2
® - ® 5
- - . 2
© 3 © =
1 | (#WDIRES q
{D} D / YOUR SUCCESS PARTNER {l’)} E
SPACE FOR ROUGH WORK / T% & % & we
indiresult.in whatsapp - 9352018749
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17.

18.

15

20.

IPv6 internet protocol address system is

written in :

(4]
(B)
(C
(

J
)

Binary
Octal
Decimal

Hexadecimal

Shortout to switch between two open

warksheets in Microsoft Excel software

is:
(4)
(B)
(©)
(D)

trl + F§
Cirl + F10
Alt + FB
Alt + F10

Which of the following is not a developer

of Mobile Operating System software ?

(A)
(B)
(©)
(D)

Google
RIM
SIM

Microsoft

When you switch-on a computer which

memory is first activated ?

(&)
(B)
(<)
(D)

17.

185.

19,

20.

18

RAM

Hard Disk

BIOS

None of these C !N p.lﬁcEi§m TNER

@

O
X
v

IPv6 3202 AT n\?ﬁ 1
H frdt = %

(A) =

(B) AT

(C) =fama

(D) To-2fama

|
HIZSh RIS el Wt

ol + F3

Ctrl + F10

Alt + F8 '
Alt + F10

(A)
(B)
()
(D)

T T TOTe

¥ el g aehile
% N1 WA B og MRS

Fali

frefafEs ¥ O SH-97 Wremd amaifen

7

(A) T '
(B) T (amamden.)
(C) Tom (TH.aE.Tm.)

(D) THIEHETE

S e

HA-H T T (fach

el FPed Fi fE=-ai

(A) W

(B) FrE-fe=w :
(C)  =rrE

(D) =79 | & 7

SO T HERYH

vate) BT E7

SPACE FOR ROUGH WORK / T% &g % ford =g
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26. HHIEE 18 vg-wd’ F yym 99E
(A) TFIET FEH

(A) FT | o L
| ) mR HAEH
(B) qlmw [

(D) FHUET Huy

© T

(D) T
| 27. #f + A9 = SFEEm
22. ‘S wta{Em@R % o s v 2 AR T S
(A) T (4) TR
(B) =i | | (B) dfa = HH
(C) i{aﬂi (©) =Ry
(D) fa=pEm (D) srarls w |f
23, &Tm:;:lgmﬁmqaﬁmﬂ 28, ‘9 = = Afan = g
(A) o &)
® 9| | PR
© I T
(D) El-garn st e & E Bp
24. 7=t H 9 wESTE WW % wRO & 29, freAfatEg § 9 S-m we e w4
i I fafta 12 22
(A) il Iﬂ‘ll"l: {A) HTEH
(B)  TEAIH) ' (B) =
(©) T | (C) &R
(D) 4Hg=EH .
(D) =

25. FAHRIE g F arylg o F

|
30. T=Rd 4 8 fran fammn =t g4

(A) A% A st @ veen uvd o
(B) T *-I—JT‘I?'-‘»'-'I q UH wA (A) TR
(C) =AMy w1 i T g (B) fagmIfEs
(D) T439% 31 7@ & 39 wew 26 o (C) =

Tf]f? (D) fEa

. FL SPACE FOR ROUGH WORK / 7% T4 & o =g
INDI

Set - B

c %UTE indiresult.in whatsapp - 9352018749
|

8 5021/ SE-SH/RCE-M




indiresult.in whatsapp - 9352018749

31.

32,

General English
Find out which part of the following
sentence has an error,

He tried / hardly to / win the race.
I I [T

(A) 1

(B) I

(C) III

(D) None of the abm-eh

#

In which of the following sentences the
use of the idiom ‘at sixes and sevens’ is

not appropriate ?

(A)

He apologized because the house

was at sixes and sevens,

(B)  Our teacher had just moved in to a
new classroom, and she was still at

sixes and sevens.

(C)  After the captain of the team broke
his leg, the other players were at

sixes and sevens.

(D) The dog's barking kept the Browns
at sixes and sevens with their

neighbours for months,

23.

34.

35.

IRES

oOUR UCCESS

Choose an approprijatﬂ word from the

alternatives given to supply a conjunction

for completing the fi:%]lf}‘ v

Heacts, 1
boss. |
(A} like |
(B} that |
(C) asif 1
(I}  so that

Select the word that |is

o I 15
opposite in meaning to the
|

letters, |
HEARSAY

(A} DPrecious

(B) Estimate

(C)  Authentic .
{12} Indecent

mg sentence,

he were already the

maost nearl}r

word in capital

Choose the correct senterce

(A) There are maﬁ}r 1
Oweford Street. |

(B) There are many la
Oxford Street. |

(C) There are many lar
Oxford Street. |

(1)

Oxford Street. |

arge shops in

Tge shops in a

e shops in an

There are many large shops in the

>
Qfamnmssuua

SPACE FOR ROUGH WORK / T% =14 & g =g |
indiresult.in whatsapp - 9352018
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36. Selact the group of words that is most 39, He says to us, “Keep the gate closed”.
neatly similar in meaning to the idiom/

phrase 11 capital letters. [dentify the correct indirect expression of

f_;f_}IfZ AN KNOT the above imperative.
{(A)| Utmost hatred for someone.

(B) loke family tree {A)  He says us to keep the gate closed.

—

{C) | Totwist hair into a particular shape.

: : : o (B)  He says to keep the gate closed.
(I2) | A seemingly impossible ar difficult

task or problem.
{C)  Hesavs that we are to keep the gate
closed.
37.  Chogse the most appropriate one word
subslilprte for the following from the given
= = (D} He asked that we were supposed to

alternatives :
close the gate.

To gend|back a person to his own

countrp.
(A) | Hxpatriate

(B) | Delggate 40. Complete the following sentence by

(C) | Bxpel mserting a suitable preposition from the

g ] 3 given alternatives.
(D) | Repatriate

We are sorry your

38. Chogse the correct passive form of the misfortune.

following sentence :
[ remermnber them taking me to the zoo. (A) about
(A) |They remember taking me to the

L0, {B} fﬂr
(B) |l pemember them taken to the zoo

b'-" t]"len-!- {C} at
(C) |I remember being taken to the zoo.
(D) |None of the above (D) with

(.:/;, INDIRE SULTESPACE FOR ROUGH WORK / T T #+ foa =g
/ YOUR lUC{‘.'I.I PARTHNER
indiresult.in whatsapp - 9352018749
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Mathematics

41. A sum of money put at a compound

interest amounts in 2 years to ¥ 673 and

in 3 years to T 714, Then the rate of

interest per annum is {approximately) :

1

§ =%

(A)

If a+ 1 = /3, the value of a° + ia is:
a el

(A) 3

(B) /3

(€ 0

(D)

42,

Mone of the above

43, In a triangle ABC, D, E, F are mid points
of BC, CA and AB respectively. If P is
point of intersection of AD, BE and CF

then, which of the following is true ?

AP _CP_BP_2
) 35 T FECPE 1
B AP _CP _BF _3
® P00 PF PE 1

., AP _CP _BF _4
(L) D PF P 1

Mone of the above

:ﬁm,55MJm§mL,

=S o 2 9 % fou el

ok

AT T T 673

@l 3 A9 W (Y FwaiE =

5 TZ 714 E

WA | 7 T e Wi B (Fe)

@ 1

(D) 6.4%

Erﬁa+-_1-=ﬁﬁﬁ a%-%?ﬂmﬂ?ﬁm:

(A) 3
(B) 43
(C) 0
(D) 7§ 8§ FE o T8

u fase ABCH D, E 78 F #8W: BC, CA

A9 AB % weg fag §1 9 A

D, BE 921 CF

U EL ) P fag Wwed & o fretafen |

N E?

AP _CP _BP|_2
(A) 35 = TF PE |1
B AP _CP _ BF|_|3
®) po ~ TE PE|[ |1
c AP _CP _ BF| |4
© 5~ Pr PE| |1
(D) S 8 4 % o 78

indiresult.in whatsapp - 93520187
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/ YOUR SUCCESS PARTMNER
44, I V2|r+ 22 y =342 and 44. A 2 x+242 4y =342 T
5V3 ¥ T 4“@ ¥ =~/3, then (xy)2"15= 543 x - 43y = J3, 79 (xy)2015=
4015 2015
(A) (| 2| (4) 32
(B) (B) 1
. 4013 7 2015
© b3 © 3
(D) 2015 (D) 2015
45. When|1871414% is divided by 11, then  45. ¥ 13+ 143 &1 11 & fasnform fran s &
rermainder is ¢ CERIL LT
(A) 13 (A) 13
(B) 2 (B) 2
(C) 14 (C) 14
L) 3 D) 3
46. If threp persons fire from their pistols 46, 4% @7 =fag =797 finger § w2ef ax s
simultaneously for the first time. After WY HAT FA § Al S 9YEE A HA:
that they|fire at every 3, 5 and 7 sec. from T 3, 5991 7 Hahve F o0 fome §
their I.;Lstois-. How many times they fire FRR FAG E, o U g H A det ue my
together in one hour after third T o TR fRAAl 9 U ' SR S
simultaneous fire ? 7
(A) 32 Himes (A) 329X
(B) 3B times . (B) 33491
L]
© tmes (HINDIRESULTE (© a4
(D) None of the above (D) SwEd W # =i T2
SPACE FOR ROUGH WORK / T% &4 & ford 5mg
indiresult.in whatsapp - 9352018749
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6H8.

69,

70.

If the area of curved surface of a right
circular cone is 407 units and radius of
its base is 5 units then its height is -

(A) 3 units
(B) 5 units
(C) 7 units
(D} None of the above

If 23x+3.1y=1.5 and 3.1x+2.6y=23.6,

then |xy|=
(A) 2.3
(B) 2
(C) 3.1

(D) 1

Two trains, each 0,100 km long, are
travelling in opposite directions with
speed 36 km/h and 15 m/s. The time of

crcz«ssing 1% :

(A) 8 sec

(B) 4 sec .

[C:I 1[] o %!oun lIUCtEI$FlRIiR
(D) None of the above

64,

69.

70.

e {20 g vid & gE

< —

NDIRES

DUR SUCCESS PAR

73 ] &I

THNER

40 THIE 21 GU THF NN Bl 01 5 T

21 Al g9 SEE 2
(A) 3 ETE |
(B) 5%FE

E

7 EalE

(C)
(D) I9E H # i %ﬁlﬁ?

afT 23x+3.1y=15, 3 3]1
a4 jxy|=

(A) 2.3
(B) 2

(C) 3.1 |

(D) 1

41 yermfedt, 9= 0,100 1
fewnati 9 36 . /=2
9 9 =5 I ER

g &

Rl

ol

(A) 8H. |
(B) 47#. |
(C) 10 4.

(D) Swied ® 9 wE o 75

T+26y=3.46

5021/SE-SH/RCE-M
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Mental Ability AR Fadar
Z-ki ﬂ"hich of hel following number is 71. TeAfcfaa § S0 @ &% a3 i 27
different ffrom gthers ?
(A) 41 .
{(A) 41
(B, o (B) &1
(5 b () -85
(B "3 (D) 115
72. W = i Gk 72. afy  + = +
¥ means |- w AT
+ m]::ans ® + Arerd w
— means |+ — areE -
§m2= 104K a2 §-2+10+2x6=_17
(A) 12 (A) 12
(B) 14 (B) 14
(C) 16 ) 16
(D) 18 (D) 18
73. 1I|""I-'rhai j.S thE" next term in 1.].'19 .[U].].U‘r"‘r'lng ?3 ﬁt’ﬁ'ﬁgﬂ 3:]‘:.]@'[ 13[ ATTTE 1“"_':-[ | ﬁyﬂ'}
sequence ? b
T ) o | N 1.5 14.30. 55 5
ff.-‘h] 91 (A) I?-}il R
5 = ®) 92
(€) 93 © 93
(D)  Nong of the above (D} ITfaa & & = off 7
74.  Which regipr represents voung, educated 74, &iA-H] &9 el Torida wE E RIS ]
and unemplayed persons ? =it F Twia 2
Young A-r . I ~ '
—t — Uneducated 3 T TR
: /E”L ﬁ’””/f T G B
= il molove | = | b= :‘.
7 - | E].]piﬂ} ldl | Lﬂ o LT '?Ia}
(A) 1 (a) 1 -
(B) 2 . B) 2
© 5 || G#INDIRESULTE (© -
p /’ YOUR SUCCESS PARTHER o
(D) 4 (D) 4
SPACE FOR ROUGH WORK / 7% &4 & f&g s
indiresult.in whatsapp - 9352018749
Set - B 22 5021/ SE-SH/RCE-M
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75. Find the missing term : 75. oW UG F L QJ NOIRESLLIE
FASEDT. BN 3A3Z6D7, 2 |,V
(A) 18G 12 (A) 18 G 12
(B} 20G13 (B) 2013
(C) 18 G 13 (C) 18G 13 |
(D) None of the above (D) TR Y H ?ﬁé} | g
76. Find the wrong term in the following 76. TTeATANES ATEA W Tiﬁﬁ e Hd HwA
RERTIEIRE 2,4, 8, 4,8 16,6, 12, 26] 8,16, 32.
2,4, 84,8, 16, 6,12, 26, 8, 16, 32.
(A) 16 (A) 16
(B) 26 (B) 26
(C)y 32 (C) 32
(D) None of the above (D) = | | ?m'“réi | g
77. How many among the followingisneither 77, Frafafia # 4 fad 7 fqfem € 7 faers
educated nor player but is male and T TFY 9 gEAEN '%?
shopkeeper ? i
RRaphecpe - A 7——Flayers W‘—(/E—% A — et
5 . 12,6/ 13
9 1 11 S e 9 s
5 Educated ;B \l}, Farfera
(A) 4 (A) 4
(B) 6 . (B) 6
(© 12 Q’(g INDIRES @ 12
i 4 o 11
SPACE FOR ROUGH WORK / T% & & fordl 78
indiresult.in whatsapp - 9352018749
5021/ SE-SH/RCE-M 23 Set - B
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indiresult.in Ff// IN R S
78.  Which ane of the following four logical 78, FHifkd ar fadl ¥ & F=-w f3, 3w
diagrams represents correctly the feemsl, e faemsl, 3 oEil F ue Hadl
relationship| between Tenis plavers, I WE-Ha! g § 7
Cricket players, Students ?
@ \@ /{.D CO0) @ CTT
I ; ! |
2l B NV N g A A el WL
(A) (B (<) o) (B) (€)
79, If CATE=25 79. Al "CAT=25
GE[L =35 GET =33
DOC=127 DOG=27
Then AWE|= | ? A A AWE= ?
(A) 28 (A) 28
(B) 29 (B) 29
(C) 30 (C) 30
(D) None of the above (D) Irfem o & 1 e
80. Count the number of cubes in the 80. fA=ifea g o == F7 5w F1 T
following figure
AR o
o=y
LA
R - 2y ‘\\ \: - W -
=y JF iy %"‘"’"x\ o
:_-E g A .:‘t i %\x N R \\\,
3 S RS &
ﬁ—ﬁ A ‘Qﬂ S &S
b ]
2 N 3 4
B 8 ™
(A) 92 (A) 92
(B) 87 ~ o (B) 87
© || (HINDIRESULTE ~ © =
(D) 90 (D) 90
SPACE FOR ROUGH WORK / T% &1 & fad 57
indiresult.in whatsapp - 9352018749
Set- B 24 5021/ SE-SH/RCE-M
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§1. Find the missing term in the following 81, Fr=faiEs == 9 el 9 Elret
diagram :
5 6 a1 & | 5 6 8 5
5 10 | 3 5 9 14
2 11 13 13 | 2 [ 11 | 13 13
16 18 19 | 16 18 | 19
(A) 3 (A) 5
(B) 4 (B} 4
(€ 6 (C) 6
(D} None of the above (D) 39ddF o | Fh3 T
82. Select the diagram which will come next 82, fa=t % Frfafeas sg®g 9 @men o=
in the following sequence of diagrams : -1 S A '
% [N
T3 H [ T €A
I L] : el I8 ¢
o o] WA ShamNe K/
|
|
anlanfan]. aelanfan]
IR "IRC 7 N
| o b (P & e b D
(4) (B) (©) (D) (A) (B) (C L)
83. What is the number opposite to 5 in the 83. ‘mrw' = HEfefEd ﬁ?ﬁlrl Tl 5% famim
dice position given below ? FH-H1 &HF §? |
6 | /6 5 1 6 6 /| /5] 1
1.
3 (2 ‘ > |4 6 |4 4 |2 Ak vdll: 4 |2
(A) 1 . (A) 1
B 2 F//' (B) 2
< 3 W /)!N. .IﬁcE:§mn.u (C) 3
(D) 6 (D) 6 |
SPACE FOR ROUGH WORK / 1% @14 & fad smg '
indiresult.in whatsapp - 9352018749
5021,/ SE-SH,/RCE-M 25 Set - B
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84. Select the one which is different from 84, TTHIeliED ® o= & fa= =1 =00 =4
others :
(A | CE (A} CE
(B} |Gk (B) GK
(€] | MO (C) MOQ
(D S}]i (D) SX
85. How many triangles are there in the 85, o3 # farad foy= ¥ aameu
fignre ?
|
\ ',
/ \
(A) 15| (A) 15
|
(B) 1?; (B) 17
I
|
(CY N9|- . (C) 19
: INDIRESULTE
{Dj 2[:]' U\"OUR SUCCESS PARTMNER (DJ 2{_:]
| SPACE FOR ROUGH WORK / 1% T4 & fod wme
indiresult.in whatsapp - 9352018749
Set - B 5021/SE-SH/RCE-M
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86.

87.

84,

In how many stages the elections were
held in the 16" Lok Sabha from 7 April

to 12" May 2014 ?
(A) 07
(B) 08
(C) 09

(D) 10

Which organ is known as Adam's

apple 7
()

(B} Larynx

Pharynx

() Trachea

(D)  Oesophagus

An alloy of iron and Nickel is called :

(A) Drass
{B) Invar

(C) Bronze Q/‘//) !N“ ‘I

(1D} None of the above

56.

87.

85.

16 &f st 1 = ol 7 370a 4 |
% SN T =it § <A H
|
(A) 07 |
(B) 08 |
(C) 09
(D) 10
|
FI-T7 7 = H "
o ST S g ?

(A) Wiy

el fag omg 1 Fed €
(A) e

(B ¥aR

(C) wr=

(D) 9l | 9§ w1 TE

A

12

i |

T

SPACE FOR ROUGH WORK / T% & & fo@ sme
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89, Fourteentd
increased
divisiple 178

(A} Hrom
(B)  Hrom
() from

(D} hone

90. Which | of
volcamo 7

(A) Barre
(B)  Nircy
(C)  Peecc
(D) Parat

91. Under whi

thatsapp - 9352018749

Ih Finance commission has
the share of states in central

ol

28% to 38%
32% to 42%
28% to 42%

of the above

the following is a mud

n isiand
ndam island
i Trap

ang island

ch Article of Constitation can

the Priesident dissolve the Lok Sabha ?

{(A)  HArtic
(B} Purtic
()  fxtic

(D} Adtic

e o
e 85
e 354

e 365

92. When was the first meeting of the

Constitden

Assembly held ?

(A) 02 Dec. 1946

(B)  §9 Dec. 1946

(C) Td i1

(D) 15| Awg. 1946

y 1947

89,

9.

91.

Oz,

#moiresuLTs |,

=g ferst amdm g e Festsias 1o o

Tl Y T g A

(A)  28% 9 38%
(B) 32% & 42%
(Cy 28% § 42%

(D) ITE WA ST

et § %A U seregEt ¥ 7
(A} &% g

(B) ARFUEH §9

(C) S99 39

(D) A g

A wiEEH F ey aTses F o=

@IHAYT Tl 9T T T § 7
(A) T 95

(B) &q=is 85

(C)  3T=re 356

(D) s 365

HiEGHUF Y41 % 9497 S3% FA G0 g8 ol ?

(A) 02 feEs 1946
(B} 09 ==t 1946
(C) 04 Fa 1947

15 =77 1946

Set -1

SPACE FOR ROUGH WORK / 7% @h1d & g =g
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9

94.

By which of the following names Shivaji's

Council of Ministers is known ?

(*)
®)
(©)

(1)

Sapta - Shahane
Ashta - 'radhan
MNau - Ratna

Dash - Mantrin

What is correct about casting vote of
Speaker of Lok 5abha ?

(1)

(i1}

(ii)

(iv)

(A)
(B)
()

(D)

[t can be used in removal resolution
of Fresident,

It can be used on Govt. Bill.

It can be used on No confidence

motion.

It can be used in removal resolution

of Judges.

It can be used in Constitutional

Amendment Bill.

It can be used in Money Bill

(i), (v} (v)

(iif), (iv). (v)

(if), {iii), {vi} J"

(1) (if), (vi) Q;ﬁﬂﬂ.ﬂi“§

93,

94,

A T E ?
(A) ¥ - v
(B) % - 9&H
€y -3
(D) =9 - "=

v

&/ INOIRES

Freaferfa o = fare =9 | T2

e es

T B EER F T 'a e fawm W

WA FNE

(i) Fg e % wEEd TEE A S
o =1 W £

(ify ¥E TEAT fa9asd v g fear =
TFA £

(iti) TE AT TEE W _qu“w [EEIET
TFAE

(iv) a =i % e «"E T ITH
ot =1 HEdr 8

(v) T HE S e s
T = W 2 7

(vi) @ o foes T 2] e = e
Tl

(A) (i) Gv). (v)

(B) (i), (v, (v)

(C} (i), {iii), (vi)

(D) (i), (i1), (wi)

SPACE FOR ROUGH WORK / T% %14 @& Tod w778

indiresult.in whatsapp - 935201
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95.

96.

97,

'

ry
]

ns{ct&s Indian Siate of Sikkim with
h a|?

-

——

A E'[ihipkila Pass

. {%} ?umla Pass

{C I.Ppu lekh IPass

(I | \|Jathula Pass

Re 1nlling garth which statement is 96.

inrmrér:t r;
(M) || Earth is in geoid shape,
(B) | 1

lar diameter is greater than
| equatorial diameter.

(C | Difference in value of equatorial

and polar diameter is the cause of

| Ea|rth s oblate spheroid shape.

(D lerth is flattened at the poles and
|bu|l1be_-s at the equator.

Ter tll SLTF'EEdLILE added to the Constitiation 97,

tec! o

(A) |Sp'=ciuI Privilege to the State of
!N.IiL

is rel

LOTAIT

(B) [['"rqvisinn as to Disqualification on

"Hl'licl'l mountain pass in Himalayva 93

YOUR SUCCESS PARTMNER

OINDIRESULTE
feamera 5 ®F-91 92ISl 799 (U) YREE
T Tt =t = & we wrga 32
(Ay  Torowien wH (wEm)

(B) HH A
(C) forgers am
(D)

T I

get % ey ¥ T9 § 9 wE-9 999 9
TEH T2
(A)

(B) yeila =ard, qHeAEE =E | A
kA

vl fAs7E w0 H 8

AYIETT =0 Ud g =6 § 2
% TN G WUE FSHR A o

4

(<€)

o] Yl U HIE T HEE] WS
fag g B

(D)

Tl B ST T gt gt defd F
(A) Tusire w9 % o8 favm vy 9

(B) 9 WHERA ® SAEN T SN F 9

Fhe ground of Defection H wrEaH
(C) Follditions related to the status of (Cy foferm % it | daida w9
T;k'um
(D] 1\104143 of the above QI NDIRESULTH (D) 29daa § 3 fadt | 72
| | SPACE FOR ROUGH WORK / 7% &4 & f&ra s
| | indiresult.in whatsapp - 9352018749
Set - B | | 5021/SE-SH/RCE-M
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98.

g4;

100.

Lunar eclipse occur when : 98.
(A) The sun is between the earth and

the moon.
(B} The earth is between the sun and

the moon.
{C)  The moon is between the sun and

the earth.
(D) None of the ahove
What 15 the meaning of core sector in B
planning ?
(A) Selective Infrastructure Industry
(B) Agriculture
(T} Security
(D} Iron and Steel Industry
At which of the following places in 100.
Tamil Nadu the famous Brihadishwar
temple is situated ?
(A} Tanjore
(B) Kanchipuram .

Y,

@ waaws (H)INDIRESULTE

(D} None of the above

HEURY FA T L7 94

T4, et ©F =g

(A)

(B) Eﬁﬁ,ﬂﬁuﬁ%ﬁwﬁ%

_/OINDIRESULTE

YOUR SUCCESS PARTMNER

T W A 2

7 A AT 2

(C) <A, g o qet F A AT S A

(D) 3= H1E T

=

A1 § FL HF2 &l a7

(A) Fafa seRyd T

=

(B) =M
(Cy

(D) witer oF 2o e

AftrerTg § Freferfiag 7 @ frg wE wYieg

sEd v Higt frm &7

(A) TR
(B) HIHTERH
(C} Hgd

(D) 3ve ¥ & i 7
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101. Who jof the following was the leader of 101, fr=fefoa ® 9 =9 1857 = fage =1 0@
the Revoltof 1857 in Lucknow 7 H et ot ?
(A) [Begum Zeenat Mahal (A) =T Fa TEd
(B) |Begum Hasrat Mahal (B) =TH THE HEw
(C) [Begum Hazrat Mahal (C) =T gEd HEe
(D) Begulm Izzat Mahal (D) =9 o= "WEel
102. In which latitude Torrid zone falls ? 102. oy stare F o0 spfay g« g7
(A) ocated between 0° and 23% north (A) 473 i@ 9§ Iwy ug =fyer #
| T
and south of the equator. | 235 H & HH
(B) |Located between latitudes 23-;—' (B) qHEH @A IOl U4 Siem 23-12-- ki
3" g
and 5665 north and south of the 665 SR W HEg
equator.
1 (C) YHed 1@ | I ud gfeor #
(C) |Located between latitudes 665- to -
66— T 907 TeTYl & HeA
90° north and south of the equator. 2
(D) |None of the above (D) 39 H | g T8
103. Towhichof the following ancient dynasty ~ 103. i T FeAfaied o 9 B =t TsEy
Ashoka - the - Great belonged ? H et = ?
(A} |Haryak (A) TR
(B} |Shishunaga (B)  TempAm
L
(C) |Maurya N (C) #rd
™ (%) NDIRESULT |
(DJ SIUJ.;'Iga YOUR SUCCESS PARTNER L’D‘J -:'E..FT
SPACE FOR ROUGH WORK / 7% &4 & fod 5178
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104. Against which of the following Act  104. F=fetEa ¥ & &3 ®F 3 908 # e
Mahatma Gandhi launched his first Ml A wra W uyw " UEsE T
nation-wide satvagraha in India ? =TT ¢
(A} Pitt's India Act (A) 192 =1 (89 FA
(B} Rowlatt Act (B)  ere F1A
(C) Regulating Act (C) @ wrE
(D} Vernacular Press Act (D) =REL UH T

105. Why does land heats and cools more  105. T 9qfF UHT &1 geiq1 § a1y st 9 qua

gquickly than water ? dAndergm g2

{A)  The specific heat of land is high (A)  gfF =T T T s g 2
(B) The specific heat of water is high (B) W = fafere s s dE E )
(C)  The specific heat of land is low (C) Y| i [T SoAT &5 2| 2
(D) The specific heat of water is low (D) 9T =1 Tafore w5 515

iF

106. “Open Market Operation” is a part of 106, "' He I=1 &1 T feifaiga @ & fe

which of the following Policy ? a1 FTE 7

(A) Tncome Policy (A) 3T i

(B) Monetary Policy (B) ifge ifa
(C)  Fiscal Policy °, (C) HEEICIE ]

(%) INDIRESULT

(D) Labour Palicy wsuecTET PARTNER ([3) gy iy
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107. Which lamongst the following officials  107. FreTiaraa o & -9 Wierl 989 = fH
can partic:ipe?te in the proceedings of any i WA I HAAE 9 W ©
House pf|the Parliament ?

(A) Dlefende Secretary of India (A) VTR ST 18T Hi=a

(B)  Altt 'yrnft:}-‘ General of India (B) W = W EEET
(C)  Chief Justice of India (C) a1 5= =
(D) None of the above (D) Todsa | 9 &E T

|, e . .
108. Which of the following instrument is used 108. T © 5 T o= =1 3wgm g =t g’
to meagupe fwind direction” ? T w4 & o e s 7

(A)  Altjmeter
(B) Barun’%eter

(A)  aFEHI
(B) EHRET

(C)  Wind ;‘Jane ©)
() ﬁnamf_'rmetm- D) wfEE

109, Which chm

r have maximum 109, N4 F LA 20 o e &9 F1 Faias

contribt tidm in National Income of TqieE 27

India 7 l

(A) D ’na'f}' sector (A) TUTE &3
(B) Semnaar}' sector (B} TsordE® ZE]
(C) ’feniafry sector (C)  ddia &
(12 Equall;}f from all the three sectors (D) =70 = JE

110. Tn whigh state there is Maximum Literacy  110. Afgenai #1 Saidl o€ was o 56 9

Rate of women ? HE7?
(A)  Tamil Nadu (A)  AHA TTZ
(B) Kerala i (B) el

(C)  Mizofam

(D}  West Bengal
|

A

(Cy  Tomie
%) NDIRESULTE

¥OUR SUCCESS PARTNER [D:] m%ﬂ'qm
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111. Which of the following is the site of  111. 757 % @ forwrif wifen Feehuy gran &2
protein synthesis in a cell ? '
(A) Mitochondria (A) WrEEmET=Za |
(B)  Ribosome (B)  ¥rEaEm .
{C)  Endoplasmic reticulam (C) WEremmE ifegem
(D}  Golgi body (D) et wTEt |
112. The glassware used in kitchen are made 112. = o 9q5 +i9 F =57 méEy o @
of Pyrex glass because it has 94 g9 § w9iTs 9% faean T
coefficient of expansion. Bl &1 |
(A) High (A) sfas
(B) Low (B) =9
() Medium (C) Team
(D) None of the above (D) 370 ¥ 4 %¥E 72
113. In which country, First Industrial 113, s it gagem [ETRCt il e
Revolution had taken place 7
(A) France (A)
(B)  Germany (B) oAl
(C)  America (C) =i
(D)  England (D) 3™
T14. What is the base of determination of  114. WRd & Feaifaf ¥ TEmdé-om F fafor =1
dearness allowance in India 7 ST 1 5 7 |
(A) Consumer Price Index (A)  ITHET Iod YaFiE
(B} National Income (B) et amg
(C)  Per capita Income _ °, (C) wideai 9
(D) Life Status Q//‘? INDIRESULTHD) < ==
SPACE FOR ROUGH WORK / 7% % & fordr =g
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115. Matdh the following places with their ore 115. Frefafga wmi #t 395 |i a5

minarals - 1y Hay i
{a) |Rawghat (i) Copper ore {a) TEERE (i) ETE TR
(by |Khetri (i) Lead-Zinc ore (by @ (i) -SRI
(¢} |Zawar (i) Manganese ore (c) T (ifl) HTE FEE=
(d) |Balaghat (iv) Iron ore (d) FEERE () FE AT

(a) | (b) (e} (d) (a) (b} () (d)
(&) 1@y | @) (D) () (A) () (D) @G ()
(By | ()| (i} () (i) (B) (v) () () ()
(C) | @D | () vy () (€ (G (v) (1)
(D) | (vy| () (i) () (D) (i) @) () (1)

116. The immediate product of photosynthesis 116, FhT HeeTwol &l T=H I8 7

is

(A} | O, (A) CO,
By | Oy (By O,

(C) | Water (C) T

(D} | Glucose (D) TR A

117. At which|of the following places a trial 117, ¥R f&= WIsl & 7 HeAafai-wed,

was [held| against the three generals of wilears 3l feedil % faws frefoted 4 4
Indiarl National Army - Sehgal, Shah g T W g A el

MNawaz and Dhillon ?

(A} | Vicgroy's Lodge, Simla (A) EEEE @, e

{B) | Wictoria Memorial, Calcutta (B)  fasifon TmTREE, werm

(C) | Red Fort, Delhi . (C) = T, feee

YOUR SUCCESS PARTHNER

(D} | Nore of these C{?INDIRESULTE (D) T | &R T
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118. Economic Planning is a subject of :
(A) Union List
(B)  State List
(C)  Concurrent List

(D) Special List

119. JAM Trinity is being talked about in the
context of :

(A) Regulation of Market
(B)  Transfer of subsidies
(C) Financial Literacy

(D)  None of the above

120. If a bill is passed by State Legislative
Council but not passed by State
Legislative Assembly, what will
happen ?

{A)  The bill will be finally rejected

{B) Four months time will be given to
State Legislative Assembly

(C)  Joint session will be called for this
purpose

° (D} The Governor will interfere

118.

119.

120,

(B) T TEYM W OH AR

7

%

e T famg &

¥

oju

G

(A) R
(B) === H
(C) wwast gt |
(D) faem 5=

S et =5 i fw e 4

(A) =R fgze |

(B) &g (Wefbet) & amr

(C) fafen wmerar §
(D) =W o 4 51 7= |

T o

afe #1§ = 1 fgam of

T e faum g g wiita e

o FET 7

(A) ﬁmaﬁwmﬁﬁw:ﬁm

feam s

ue BRI i
T TR ST

F1 THY

(C) % famg ot Hga AfeEv e smm
Z (D) ToT9TE FEAT HI |
C vour succrss »anrOFRACE FOR ROUGH WORK / T% =T % ford 9
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121. Wheo has been named as ‘Deepasha’
recently in the state ?

(A) | Tiger cub born in Nandan Van
(B) | Wild Buffalo calf born in Udanti

(C) | A Igaew lizard species found in

Kotumbser caves

(1) | Rare Hill Myena found in
Dantwada

122. As per the Census Report of 2011, the
female-male Sex Ratio in the state is

(A) Fettale:  Male
1032 1000
(B) | Femmale  Male
985 1000
(C) | Female  Male

201 1000

(D)| Female  Male

121. 79 ‘Smn’ AW T § ° e T mar

(A) ¥ 57 ¥ 90 g ue I v #
(B) T & o fod o AR F W

(C)  Sarsre? ] | qrEl T T T
ganfa &l

(D) darer § 2wl Tt gely verEl f9 w

122, T4 ¥ Higa-Jeu fFargoE =39 2011 &1
T & SATER A 87

(A) wleEn I

1032 1000
(B) e I
985 1000

(C) wifgen TEY

|

991 1000
(D) wfgen ey

l
45 1000 6{/’||S T8 o045 1000

Set-B
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123. Who has been appointed as the New  123. ‘21 37+l uve fardq stgeaz' % 9
Director-General of the ‘“The Energy and TR & 9g W R |fFge fem e &0
Resources Institute” ?
(A) R.K. Pachauri (A) #HFH, TEN
(B}  Ajay Mathur (B) &=y gy
(C)  Narayan Murti (C} =T oid
(D) Nandan Nilkeni (D) g7 Hterhmit
124. Identify the Indian Golfer who won the 124, 38 it ‘et =1 weeif] forat 30 =
Gold Medal at the Special Olympics oA Uies o swifag s [sfefis ave
World Games held at Los Angeles, this TR H T g W
year : I
(A) Arjun Atwal (A) oA s7ame |
(B) Rashid Khan (B) i @F
(C) Prabharoop Shekhon (C) T9EY !
()  Ranveer Singh Saini (D) e fHg S
125. Who is the host country of 101" G-20  125. 10 ¥ Wt-20 T={e = SR =7 FH 22
Summit ?
{(A) Turkey (A) =F
(B} China (B) =
(C)  Australia (C)  amfam
(D) France (D) wA
126. Sattriya is a dance form of which state ?  126. HI0 707 f59 Uo7 F71 900 Pt 22
{(A) Manipur (A) "?TTI'TE{
(B) Kerala . (B)
L]
(C)  Assam 6{’/’ INDIRESULT (C) =mE™
(D} Odisha (Dy s
SPACE FOR ROUGH WORK / 7% & % faa e
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127. 'W}LO amongst the following has been 127, T H 4 Y ' o s o T g
hongured by “The Legion of Honour T foE] P B 7
Avrardl] 7

(A} | Syted Haider Raza (A)  Hag ey =
(B} | Yashwant Sinha (B} == fH=
{C) | Shahrukh Khan (C)  wmEeEE ™|
(D) All the above (D) iR gt

128, Which freedom-fighter of this region had 128, 39 #9 & (e wandi=a 9 5900 3 5
miye tlﬂ clarion call “Satyva se mat digo - o 74 Tawt - =g foa = 7' = e famn o 2

chahe jivo va maro” ?

(A | Ot Ramdaval Tiwari (A} 9. THEEE e
(B} | Keyur Bhushan (B) bER!

() | Marendra Deo . (C) g 23

() | Pt Sundar Lal Sharma (D) d. Hewers

129. ‘Jassiterite’ is an ore of which metal 129. 'FfEee’ fam ag #1 aEeE § W O

whith |5 mainly found in this state ? TH Ted H 9T T g 7
(4)| Manganese (A) HTHEE
@ | Iton (B) S

L ]

(@) Uranium N (C)  FLHTEH
(#)NDIRESULT

OUR SUCCESS PARTHNER

() Win (D) Te
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130. Which Indian Public Servant has been  130. T8 “Re™ &% Has =1 =9 2015 % T
selected for the Ramon Magsaysay TEH e & ferd =mfa e o g
Award 2015 ?

(A) Sanjiv Chaturvedi (A) HSE =gae
(B) Anshu Gupta (B) &g AT

(C) Kiran Bedi (C) o =

(1) Arvind Kejriwal (D) S Faiame

131. Who amongst the fcllmwing 15 a famous 131. 7= 1 9 519 y=m E?L{ GiE %:?
' santoor player ?

(A) Ravishankar (A) TavieRt

(B}  Shiv Kumar Sharma (B) o oI wwp
{C) Ananda Shankar (C} Mz 7Tt

(D) Amjad Ali Khan (D) @T9=E el |@H

132. 2015°s Wimbledon Tennis Tournament 132, 2015 % fofawmer 2w itz F pfeen 77a
f

Ladies Double Title winner Sania Mirza's F1 T sitat ae wiEr et 51 e
partner belongs to which country ? feemst PR sw w7 22

(A) Serbia (A) |

{B) Switzerland (B} wElzanels

(C) Russia /'- (C) i

{D} Hungal'},r / YOUR SUCCESS PARTHNER (D} E"{Tﬂ
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1. iﬂ?'ﬂi—ﬁmﬂ o 11 o 2
Wr{maﬁmm : 1-20

AT Tt : 21-30
AT 3T : 31-40
TifoT : 41-70
AHATHeE = : 71-85
HH A ; 86-120
HHHTH £ 121-138

TS H A 7 : 136-150

‘Jﬂﬂfgﬁlaﬁm%

qse——if I, a1 T SLUH. AR, (SH-T9E ) 91 Hfed it |

TEAR BT SfeRd T U 1,/4 3 wHIE | |

ot @78 % Sesperel 41 S Zad Ud Hidiser Wi w1 FE atad ¢ |

T4 SR ene Ft Ie wE T e e a1 wed Y :e W @ W igefa 21 el
S-S 1 HaT St F ST FH AT 591 =AMEY |
I
Lt

L0 = T
a
. iR

1-¥ite 1 TR w5 W UH S srEe 7 o (e 9 e S A $e A8 1 faeree
(T A1 9 | g |

Note :
1.  This Question-Booklet contains Parts :
Computer Related General Knowledge : 1-20
General Hindi : 21-30
General English ¢ 31-40
Mathematics 41-7{0

Mdntai Ability OINDIRESULTE 71-85

Gmerai I(llnwledge YOUR SUCCESS PARTHNER 86_12“

.i: nt Affairs . 121-135
State Related Knowledge : 136-150

Eaeh guestion contains 1 marks.

\fIc:l your answer on the OMR Answer Sheet provided.

1,:’ tk will be deducted for each wrong Answer.

Use of any type of calculator, log table and mobile phone is prohibited.

Candidates are permitted to carry away the carbon copy of Answer-sheet and Question
El-: let with them, but they shall submit the Cover Page of Question Booklet to the Invigilator

aftﬁ'fr the examination.
1

o1

6.  While using Answer-sheet care should be taken so that the Answer-sheet does not get torn

or spoiled due to folds and wrinkles.
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